1. ThOEDE FPeor df F2 Hér 3F fhaer goare
& oiteruTeny fAf3fa 19 &2

(A) 3



2. e Prads 3 3IMgPad AT F P graT
SITaT B-

(B) wsd&se



3. TTeATd i IU-IWIfcadler Ugrst ao it
UTq SITS OTes ail &7 gdel Diford |

(B) gyeer, uerar

StudyGovtJob.in



4, 9T BT GToTe) eToTedTol & forgafofad o &
fhe fore 3 urem TaT B2 WES IUgad
frepea ga

(C) sreErarsT



5. gfosem TeuuTd eaedla & fooafefead o
& fer o & safkad 3

(A) cféror—gdt ueret aysr



6. HTT D BS AN T fhaar ufdara sior
TToTedTe 3 §-

foroer 3 & wad Iugad ey go

(A) 10.4%



7. Yoigs, Agoiel 3T Cael gonfd & Us
forsarfolRaa & & g ga & F urg wre
P

(C) 3wrplegdier Terase



8. 3cr o wewrce flecw & RAifdres gacHr &
wer  ofifdd aer T IuLAIeT e
TATSITea e f3heIT SITaT ¥ 358 WheT oITaT &-

(A) 5@



9. FTEHIEIUT I H fosafolRad 3 & Hia
qTQ Geardol & g1¢ 3 oTaidrel Ualel edrl
P

(A) Rcw §Te



10. forsarfolRgd 3 & P TFI S BT ool
el B2

(B) Subtract



11. Prfforep Ifrdr FF Hao ofifdd siar &
& urg T ot goar § 3T saor
georener A @frer iR ger wsofda
el fhaT 5T TPbar 3 | Tg PeoIar 8

(A) orgafda figra



12. It -1 & a1y FYdl-2 o1 Frorer sifore-
gdt-1 (T 3iar) gdr-2 (TFTel)
(A) a-1, b-2, c-4, d-3



13. @ g1q & fdheco gdisr Soe & &u 3
¥ | uPpd Pfesar o oiTed farergis 2.88 A
T 99T g1q o7 "ol 7.20 gm/cm’ ¥1 100
ATH a1 H ThP DICPI3I I TeeaT T
T2

(C) 6x10*



14. fersafeRad araelt 3 s1eg araer -
(D) Tg sfierer ar oram|



15. ITPT ATATT fhaa fhar §2
(C) Who has 1msulted him?



16. “Do you realize that the shoes you
are wearing aren’t a pair?” , I asked.

(B) I asked him 1f he realized that the
shoed he was wearing weren’t a pair.



17. “Is dad 1n?”

“No, he 1sn’t. He...... home an hour

(D) Left, has not returned



18. forseifoflaad &F & Haar udg fBrege
oTed o Rad 2

(B) #I13¢ 1T



19. €Ie, s, gdd, ¥er gIféaT, oo dcerel
FeaaTe oed & frafelRed i & fer a
ot ar3mpfar Rrdrwany ¥2

(A) 9eT & gTIGUIT Uore



20. forrafolRaa & & o woeaa &
ToaTe gier forgad osk fem wmar &3
Sugad faded gol

(B) 3T IR & AT cATITHIRTr




21. AR & Gfdara & FFg®e 323 B ded,
T AP AT AT FT hacT ¢ fH a8
gfdad smeiYor grer fu ordr el & i &
fher gfrdeer gegd e

(D) TroUaTe®



22. TIoTedTel Ualedel YoM & 3Icadd e
g Frefed faerg 3- T9d g fdded
g |

(D) "eordt afgareaer



23. TroTedTd & Jeg Eiug (05 dsae 2024
Pr) DreT I

(B) gaver ud



24. AT DIs Dre B o A & 5 Ry 3w
god F 9 Ra afes g dar 3l e
A are] Prome 3g orf o Fea F dhe
& FATT TAT O3 & | 58T Pref Ir URr weel
i e AT fhaar Rer &1 T Bom?

(D) 15



25. 3100 F 3%, 5%, 7% ofd ad &) g¢ &
TTYTEOT &ToT I} dieT IHOT-3A0T SToTIT3il
# oo & 7,100 o forder fer| e af 3
AT H IT el AVoTarsii F TATT SUToT
f3ror| 5% ue forder o ors gererf3r T 32
(A) 2100




26. 102816 + 512 T 25%-75 o ‘5* T
AT -
(A) 4180



27, e, YT gof gTer iR el & Tad
TGUT Pe ThdT §, oldip....... e U Tof ITAT
IfRT &t Fr ToT & ghar g

(A) sparar: AB+ ; O-



28. T Stoe fhefl geqg ue @omare 50%,

10%, 20% & dter gc ar ¥ | e garrdt
8¢ ¢ fohddl 5?2

(D) 64%




29, 3T IfFueaed 1 Gfleeor 7T T forasd
aﬁmaﬁmswsﬁsﬁmé%?

x2 2

yo _
(C)zs_zo_1




30. T Tde fiig I AT S uzard Hars o
TP Drel FaiT?

(A) Tro farspanfecer



3. AT sl o Oeg fFT Par & -

(D) ®ras



32. gdATeT TUSIEATS TIoel & OIcel b TITH
T AT ST T AMNASe fhad aqer 3
orfed ThaT oraT I7-

(C) siziromeraT



33. sfdar, AT H T T G e D
omeft B | s1or, fdeiie & faar 3¢ 3o &
POl TS g | THAT 3o o Uit B | fdar
3 & fer gore Safad B-

(C) o



34. gfd 3Ige-ud uRawr & wET %,
cferor-gdf 3a¢ 9o wiar § 3T =it e
ol IGBAT STaT g o Ud FIT §of GITgan?

(C) 3ae-ufaar



35. U g & &off dem & ger Tor &o T
oTaT g 3¢ 99 3T THATT 3NPIE B 64 B
"ol o icr otar sl Y& fhaa gor gror
foreTat U dew g Tofler grofl |

(A) 24



36. fagTeT ®F g8 IET GIF ATAGT W b
gue T gafgd g e Aeso & foreadl ue
amaTied -

(D) guiferaer



37. oig F1 & or et off vp sap &F
S heUT FETeT GTaT § oF o PgaTdT §-

(D) gt gweor



38. It 1s exasperating to the

suggestions of my neighbor about
international affairs of which he
knows nothing.

(B) frustrating



39. Choose the word similar in meaning

to - TENACIOUS
(A) resolute



40. ForrafeRad 3 & HITET HIRCT HT TH
sayc f3arser 78l 3-

(B) #iteiltee



41. The city Centre Mall was crowded--
————— tourists.

(B) with



42. A teetotaler 1s one who
abstains........... alcohol.

(A)from



43. TGTEITST 3 UTE GTSF aTey Sy dGees
DT T DifoIg

(D) arRda firfire (Sfsas daferam)



44, forrafolRad ¥ e s Joif &
OIg-3TgCo fhaa EraT -

(A) 379 & 13



45. dsfare foregia vad o fafdresr wfde
goif 3 goffea fher a7, 98 &-

(A) BT Seseciore




46. gdt-1 o -2 & Fafea difere
goi-1 (FaeT ug)  gAI-2 (FaATe)
(B) a-4, b-3, c-1, d-2



47. “PeT’ I I UeId g-
(A) 3



48. fergstfoRad o ‘amor or yataard! s
Pl GT B2

(A) FaITe]



49. o T T Ioorarar 45° & 30° IGoaT §
g7 @I o wreaT 80 ce g Sk B wiIdl B
T B IATS B-

(A) 40(V3 + 1)m




50. wp gaerer P,Q,R,S & arer 6:2:5:3 &

srefurd of RfaRa srardt zafk Rar S &
& 2000 9o forod & oF Q or fEear
faaT &2

(D) 2000



51. pAG b gre 200 <ot I | 3T 5% Sy
A D 15% TIHr 3197e B 3¢ Py THF oT

131’ HTOT INUTH DI AT IJog dIcad & ¢
HAD P aTe fhde) Sy gdof?2
(D) 110



52. ggeaIards fRIge & TATS UT Mo
16, 33, 98, 197, 590,..%

(A) 1181



53. 4 egdr 2009 & 18 31U® 2009 dh

maf%ra‘f%lzﬁ4,000uv6icrﬁmfa%‘rw
o ETITeUr &JTol SiTd hiforg |

(A) 50.00



54. fdedt ors omar 3 ‘Life is good’ &r “ti
ve su’ ‘enjoy life’ &r ‘character should
be good’ @ ‘nx, nu, bs su ®Is fhar
oiTaT g | 3T &F o1 Fis T I ‘is’ & fou
T IS 2

(D) ve



55. P,Q,R,S,T.K 3fic M =it 3¢ Ram or
AT AW D YT TIST F S0 & ofdhal

oienel ogl & T sefl el war oF 8 81 K
td R & er dae uh Ifdd Sor 31 P wg
SHT AT F TIor I Tae M & g &
dade o ATFT IS T P & gota & g1t 3iie

K Sor & 3ie P oisa & g & Sor 7l
forafolRad o & o9 & & afdw [oas
fharrel e 99 B2

(OR,Q



56. fosafoRaa o & fha uRdiwer &
TroTedTel & Jfearely Sgo a5 o sifaerer
ufRader 3T &2 998 Iugad ey gol-
(B) a8} soimer Tvore arg ufdioieT



57. foraer 3 & PITeT TGTEATS DT UIA FUT
T3fes uTae Wic 3 | HIY Iuga fdher o

(C) "edore I uTae ecarel



58. gmeter Ay 3 KMnO, o1 gearar
T B-

(D) ; (31.60)



59. ‘3ol @spl F FHAFU Pr TEeT WIS
fosam 31 5 a1 F 1T B-

(D) smmer



60. forsaifofRad & ‘TP Fhar T aTaRT
PITET B2 i

(A) 3 3T 97ear g |



61. [logipp(Slogqg 100)]3 BT ATT -

(©),



62. gfe 230 = ZT‘IEI' 239 — sin 67° swrEe
3
2

a
(B) bV b2

—a?2



63. U dr gifias Jaa, foras Brear w
3TTE TH gae & T g, » fUuer &e
3TN 9B g1 F 162 FATT I I dITT
Fee ¢l 9 o PBrear ua st ot Brear
T JUTT FAT &3

(A)1:6



64. FIYH’ g Fr ATY-Ide -
(O) 1T + gar



65. ‘afra-sfta’ < Jgow &1 Horg I3
foroer & & B-

(C) sreates - 2r9f



66. forrafolRag FF & HdaT TTCATT Bl
T GO § AT TP sATRAT Behst Ualel el
aTer gt off 2

(A) TrigsT



67. atag A Mfosilzgy sAR...H e
Nforsitss IR & g9 ad T
(B) daster af3rer doF Cd Soeier U el



68. Choose the most appropriate Hindi

word for the given word
REGULATION

(A) fafrae



69. A person who admires/loves
himself/herself too much 1s a-

(C) Narcissist



70. SUSCEPTIBLE

(D) 1immune



71 my friends are busy
tonight. .............. of them are writing
an exam the next day, but ...... of them
were still ready to party and so
far...... of them have confirmed.

(B) All, most, some, none



72. The language of a circular 1s

(A) objective



73. tae o Iifda a1g 3-
(C) orue 30 fore &t



74. oig-fafdeear sufRe foucrer o IugaT
qholt §-

(D) vrore sIrar



75. 2011 I GieTorvrar & 3iejene fersarfosfead
H & Toeara & e fore F wTaRdr @
agd 3D 52

(D) orer



76. o Acerse fige & IR 3F F e f
T E :

Fga-1 : Bewrse fIrgdt goRyE, I7AYT D
weg e <faoft smor 3T T A o
uTs orat g

FgeT-11 : g (3maeeT) D Iufafd & Hreor
Jg oIo fewgdr gl

(C) waer | 3ite 1] Qe T 3|



77. Identify the correct statements

a. The 1ce ages or glacial periods are examples of
climate changes in the modern times.

b. In the past, climate changes occurred gradually and
naturally.

c. Rising global tempratures can cause more flooding
and droughts.

d. Greenhouse gases are given out by plants.

e. The Climate changes today are dissimilar to those of
the past.

Choose the most appropriate answer from the options
given below:

(B) ¢, d and e only



78. The Greenhouse Effect 1s caused
when

(A) The gases like carbon-dioxide
trap the heat of the sun in the air



79. Which of the following were not suggested ate the
Kyoto summit?

d.

b.

d.

C.

Most 1industrialized countries would reduce
ernissions.

More forests should be cut to create the so called
sinks.

The automobile 1ndustry should roll electric
vehicles.

Targets were set to reduce the volume of greenhouse
gas emissions.

The rate of industriazation should be containad.

Choose the most appriate answer from the options
given below:

(B) b, c and e only



80. The  implications of an

unprecedented rate of ........ are very
Serious.

(A) Ecological disaster



81. Match List-I with List-II
List-I (Words) List-II (Meaning)

a. Unprecedented 1. Forests land, which absorbs carbon-
dioxide from t he air.

b. Implications  II. That which has never happened
before.

c. Sinks . The deliberate spreading of
frightening rumours

d. Scare mongering IV. Something that 1s
suggested.

choose the most appropriate answer from the options
given below:

(B) a-iv, b-iii, c-ii, d-i



82. yrspfae TS forsafoRad o ggos -
(B) smr=eitdier



83. forsaifolRad i & e Gfdarad O wediar
& ooy & iy Gidors fagrar o anfIe
fhar orar §2

(A) 3rRds & Gfrarer



84. TUGTEATT ATTAIIDIE AT HhI Ugedr
ATEAT 3IeTaT Prar A2

(D) raT sTcaTore



85. ferpafolRad 3 O ToTedTd BT Plel &T
A Uh Ayl ‘SHATON G IAUTEH T &2

(C) aTsae



86. TGTEATST HT Dl &T Tige uRRaral &
zige (i) 3ife omedicy) & et & war
oTaT 3%

(C) sftesarsr



87. TIoTedTel & UaTId) eror f&eca & dgd
Th ¥ F menforg 819 aret T WHT O
oD DF FTH ST fhdel &2

(©) 4



88. TIGIedTer I 12dt gagayfer eNwrar 3 fher
&or Y 31T 3ace fear orar §2

(D) ataz



89. e forer uges ATex hgr wirar AT, e
AT 3T J1G 3 ATRATS Hal Tl BolT-

(D) wirage



90. TIeTEdTer o YT & fAU TIoTedTa” oI
BT geor Iaduga fher afda & Far?

(C) witet 1gTea f3rereter



91. fher ammediar @ ‘aiter silehe’ Eicol diles
geepre 2024 gIay gam?

(A) afdfar ¥t wofer



92. TR ¥ TP &TT gold Helal & He o
vitg & fovg orfda Sfifdr & srerey i §2

(C) seraare #ifdq



93. UedTal I 3ofal Yeeshie 2023 i
foorar, Roapfa g, Boa & & ha &
Hafad 52

(C) gzwardt gare



94. gat-1 @ gar-11 & gafed sifore:

gdi-1 (cerared Jgear)  gdi-11 (fgae o)
(D) a-4, b-3, c-2, d-1



95. “¥ T S T guf T0......... 3
(C) Iferadde wifRae sor



96. ter YTIUBfUP Ugh witde aTe Ugol HTedier
AT adiic dra &2

(D) stafer eeger



97. didareices, Sor gor edo, ey wroer o R
8%

(B) afdrorerrs



98. aeiier efore g 3T By & fou arafda
gTah aT0 Ugo QRrens Raarsh orer &%
(A) fouse Ow



99. IVIBAT Tt Wals D Tl o SIS AT
HIT DT ITIT hY |

(B) IreT 3wt & AeT yTw fhem wivar vl



100. FIHIGOT ToiedTel & fhd I UL
Rad 32

(A) EFATeOTE



101. 38 B3 o ufdhy 3 3¢ fam o sl
A fHY gU @S 3| A6 IT¢ Bl & 343 Ue
wafd e affad 8¢ ¥ 209 ue 3w =,
sene & SIfgel 92w 9d TS U WS ¢
aft BA®, sena & I ded g T UT
WeT & o ufdy 3 o5 I e T
gamu|

(A) 64



102. :: & STt 9T & FoIo D N §S TG
B3 § = D afEelt aew ur agr wey Tafug
B¢ TeUzdr UaT oong fb 2 P et ue
el a7 forded I THaT B2

LANGUAGE : PCRIYCKG :: COMPUTER
(A) GQQRYVIT



103. Eﬁ%ﬂﬁﬂ@ﬁrﬁﬁr@ﬁaﬁm

XIXX>

(D) 29




104. R@mstt 2x+y=4,x—y+1=0
wd x —ay & ffdfa Brger o1 f9we ¥:

(D) 3 gof so1s



105. & ¢ o1 swmafa 3 PQ, RS & warrae
T, AoUPOM = 80° 3w wor SMO =
250 @ @ror OSM &t aiTer FRIT §%

/ R
0
S

(A) 55°

. M



106. FIT : PIS oD forqard oTal & |
8 fordare s1eyTus 3 |
forepd : (1) 96 oIS 81 & |
(II) o® forcers & ¢ |
(A) o ¥ forspdf [ 3r7yar I1 @8t B



107. forsarfolRad 3 & TroedTd & UIH AT
TiIT drel F2 i

(A) siergThrer



108. AW Slor grer ‘gwrar Frefargr R[Raer
hel HATST oTT2

(D) 16 31o1ed 1946



109. garaasit yar dAroer & et o
2023-24 & ToedTd i adifde fha Ao
& Wrg ¥ |

(D) Rrg



110. 1 ZB (Zettabyte) SeIee &
(C) 1024 EB



111. forsafeolRad F & Pl Ulge Uisc o

amcae 3 (key) T ©iF UTeIT & TAISS Uoic
HeS I AGE Pedl g2

(A) F5



112. g8t & 7 3i® 8 goF & Ty IF gEam
fher AT TP g Teo LedT I Teoit efdher
U O 8l grof?

(D) 7§or#e 5 151 tere



113. ‘ITITROr 3lec hT Hfod AT B-

(A) 3q + TTeor



114. ‘Fodt B8P e fer srgee &F aafda §2
(B) foare



115. FdT o7 iider gaTd 6if UoTedTell oTyT
3 PIT T I IUOT &, PEOTAT & overenne

(C) uedt



116. ‘dIeo’ olTHS 3THY HAlgAIT
ggadl 8% W
(B) f&re



117. g & gt TN N Pr oo fha
o 3 g3 a3

(C) amrea



118. oTRd ¥ Ul Wo Raw o FAamar
oITar 2

(B) 29 3tored



119. forsafolRad & &F Hid aIs g Jcel
T JEID D BeID &2

(D) TH. sTIise



120. CH,COOC,H- + H,0 —» CH,COOH +
C,H-OH

SUT < 915 3AfSifhar F Brar a1 Gifdred =T I0TH’
& onifa ref Ppear 32

(A) CH,COOH



121. Zn + CuS0, —» ZnS0, + Cu
Sue < 3ifdifdher & dier sifaefiag & var §°2
(C) Zn



122. 38 gTqC 56 & 3§ o) &, Feiifdh-
(C) 3T goied ol F AfGd Par 3




123. sedter Sfdrarer o7 e AT 3
Tod D LA D el Br avfel dHedr
B?

(D) 3191, 167



124. gared! eer U 3veie Agar afdfd o
e & 918 F T FIT I gASA
e 2

(D) oifg garerdt Tearsit & sifémaror
far wirar & oF 1 o & offae gera searar

GG LGy



125. freafelRad & us o [THT o= 3-
(D) srsr



126. 3TdPpraoe sleg ‘AP BT fordafofad o
ProT—oT U 37 T8 &2

(D) fpeor



127. fore &sIT a7 gdara o f*Rwar gd1s
T, 98 PeAIar o-

(D) frorer



128. foafelRad & ‘oF U~RIgH I
Pra-aT 52

(B) amre



129. RrsafeRlad 3 3g addt I oI &-
a. affor

b.s=f

c. sreiiafe

d. smoref

e. TIeeT

(D)b,c,d



130. fereafefRaa & ‘Corrigendum’' & forg
I 3t e B-

(C) Zfgusr



131. fsafesRad 3 Hrel U TTher U § |
(A) STIge



132. 31qqor & forfda suwof ¥
(B) 31



133. ‘gEe & IUDIE DN o ATad aTar B
fou oo ores &-

(C) Foest



134. git-1 @ gA-11 & gafea sifow:
gdi-1 (Fe1ae) gd-11 (37ef)
(D) a-11, b-I11, c-I, d-IV



135. ‘30T & TGAT JeIde T Gal 3 3-
(C) #Is PET o TolT



136. AACOM & dad P B IdP BH B



137. AR & TIF g3 GIoe UId BT I
gqTC ot e Trereene & Rag 72

(A) oTsS0T HIGE UTH



138. wroegTel &Y 3JElor ferorer o edTger
fdrer oo gg 12

(A) 1961



139. aret TTore 919 forserfofRad o & e
STél U< SoITaT oraT g2

(A) g7



140. 3tACHch udd Joff F forpoer arest
afeaar ooff flamsit & ggdt T o
forsarfolRag & & e gme & oo 3gars
T gfde~T &1 3eT8e0r 52

(B) sweter



141. foreafelRad 3 & e &7 igacd 3o
TSI STT9T O U &F 91 i OF OaUe 99T
& gRafda e Tar 32

(D) ®ursee



142. Ta & & ot o gof &0 B |
(B) grerge eawe Srawe UIciaie



143. TRIT o1 SIS ¥IT A0S IgSTeT
wrefpar, fdowr sf3am 2024 war smeNfoa
fhaT orar A%

(B) Eeerans



144. Choose the most appropriate
option to fill in the blank:

By tomorrow afternoon, the plane
carrying  medicines  for  war
victims........... off for Ukraine.

(A) will have taken



145. Choose the most appropriate
passive form of the given sentence:

People must not leae bicycles in the
hall.

(D) Bicycles must not be left in the
hall.



146. Choose the most appropriate option
to 111l in the blanks:

It was.....windy morning but they still
hired .......... boat and went {for
.......... sail along........coast.

(B) a, a, a, the



147. GT o Ieg T TS TTOT UDIT Ao BeF
o Jggdd & g1c Ife Uear d TTAST Th
forg ue afdrenRa 8rar & o) s Ue & a
QY I PHaT HTT 63

(C) arafuar ar faee gfte Ay



148. W geqg I 15 Al gspar Hrear a1
AT U & Graer 30 Jl gdl ue waar
oITaT ¥ aY gaa arer ufafde gom?

(D) grer, arfedfds T Jeer



149. sed @ Ugor &Ie Jagner o gt
& orded fdg L1 o amaIT o9 smmeeT o o2

(D) f&rasee 2, 2023



150. TgaATe-3 farer o &g (TJYor) Heer

& fow s@or (ISRO) &1 GhraTee gdb
fore ora oid aT 82

(C) LVM3-M4



